EARAROBEEIERT — 2 N— IBISH —F

20195F8F22H () 10mEPI5I3H

LW 3Ll EC4a—4 C4 HF— (xwlm [ memml - |y ) oo mE
[AE£] 1% :250,000 ™ ~ 23#%&:50,000"  33&:38,000H  47&:2500MH ~ 57&:12,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
= . 4t 3 | FEBE 1:51.4 3-2-2-1 | 40.7| — 2 516 | #AFI5L (ALimiE)
1 gl 7T1TA 56.0 =) (16) | FURBT -
L:O—-FHF+A7 B4 772471 fult e ]
S _O—_ 4 3 | BIGBEE 1:51.4 6-5-5-3 |40.2| — 1 514 | EIfS#®H (dtimE)
2|1|1|H=Z—H=~> 5.0 (7€) e | SHEH
L:O—YX12 44 B:OrJE=— RS
o o A5 ER :52. -2-3- . — WL (dLisE
35| 5| AT IR v T 3 e 1(542)3 4-2-3-4 | 41.2 3 (5_?;6) :s.”\ulmﬁ B
L:drh—7 BARY LT ER%S
o S ; B3 | BREFF 1:52.6 5-6-7-6 |41.0| — 4 424 | WOE— (LiEE)
4188 I ZIANGASE 54.0 (11/2) (+2) plin:£ 3 ”
R:bE-—XO—F— B:T7H-T paiipie]
- . # 7 | EBEZ 1:52.9 2-4-4-4 |M.7| — 6 510 | EAREHE (tiEE)
5 3= kT 54.?) (11/2) +2) (/) BRMS .
A LkRk—L B:Zy byaXy b EEL et
=) 505 # o4 | BERK 1:53.0 1-1-1-1 | 425 — | 5 | 460 |REREK (i)
6 4 Fyrs7amg ¥55.0 (7€) (-6) ”U:;UI% =
R:Teofilo Bz A TF>F— H—L— - JvIN> - Ty— LBERS
s o to 4t 6 | WTHMH 1:53.0 6-7-6-7 | 41.3| — 7 476 | KIlMat (dtiEE)
7 2 I '7/\7]'\ 56.0 (74%) *+2) R R =
L:NX—HNK B:TE KT 7— L
— j WA = g — | = =] = |wkesa dusw
) 7| 7~ TATN—b "2 () O |mamz
LNV v = BTV T AL
® I —F—@EBIERL
13=zr= 4,3,6,5,8,(1,2)
2o=7r= 4,(5,6),3,1,8,2
BEE 4,6,5,3,1,2,8
43—F— (4,6),1,(3,5),8,2
[ RN
B OB 6 230M 714K 1-6 140H B E 1-6 210M &R 1-5-6 150H
8 B 6 150 5-6 190 B H 6-1 380 K31 6-1-5 560
1 1204 1-5 120H

ABICOVWTRDTEEERROODE. TR LIV,




